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6. What mass of NaOH(s) is required to just neutralize 50.0mL of 2.0M H,S0, ?

Begin by writing the balanced equation for the neutralization reaction. (3 marks)
Solution:
For Example:

H,80,(aq) + 2NaOH(s) — Na,S0,(aq) + 2H,0(¢) 1 mark

: i 2.0mol _ B 2 mol NaOH 400g
Mass of NaOH = T H,S0, x 0.0500L x Tmol 1,50, X molNaOH « 2 marks
=80g

5. Water, at 60°C, has a K,, = 9.55 x 10714,

a) Write an equation representing the ionization of water. Include the heat of

reaction (57..‘1 k.l) in the equation. (2 marks)
Solution:
For Example:
. . " N arke
2H,0 + 571K 2 H,0% ) + OH,, < 2 marks
OR Note: Endothermic can be deduced From the

data provided.
L mark lor the equation.
I mark for determining endothermic,

H:O(f) + 57.1kJ (__) H+(aq) + OH—(nq)

b) If a small amount of NaOH is added to water, what happens to the

value of K, 7 (0 mark)

Solution:

For Example:

K,, remains unchanged. <1 mark



